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/ N N\
Extension In Extension Out
GND
3.3V 45V
PWR_FLAG PWR_FLAG PWR_FLAG R1 R2 R3 R4 *
+IIVHRV 2.2k . UEXTL , T 1ok Jz.2 | 1ok GPI0_Qut1
GPIO_In1 D1 1 2 GND
I 1 ; GND UEXT _TxD 3 4 RxD KKA UEXT _RxD s D
1142 hd -
. S UEXT_SCL 5 6 UEXT_SDA GPIQ_Pin<5> ..
GPI0_Pin<5> 5 6 EXTCLK UEXT _MISO 7 8 MQS| 1N5819(S4S0D-123) UEXT MOSI GPIO_Pin<7> 7 s DGND
GPI0_Pin<7> 7 8 PG D UEXT SCK 9 10 #SS UEXT_#SS GPIO_Pin<9> o 10 GPI0_Pin<10>
GPI0 Pin<9> o o[_cpiopin¥fd2 GPI0_Pin<il> 1 GPI0_Pin<i2>
GPI0_Pin<il> 1 12| —_GPIO_Pin<i2> BH10S GPI0_Pin<i3> e UEXT_RxD
GPI0_Pin<i3> 13 1e|__UEXT RxD GPI0_Pin<15> i UEXT_TxD
GPI0_Pin<15> 15 16 UEXT_TxD +5V 6-Bit Volatile DAC with Command Code +5V VR1 VDD GPIO_Pin<17> 17 18 UEXT_SCL
GPI0_Pin<i7> 1o |__UEXT sCL L ?77712C Slave Address: 0x5C HPi825 a0 /oc(501-223-5) Va4 GPI0_Pin<19> 1o a0 UEXT_SDA
GPI0_Pin<19> 1o 20 |—_UEXT SDA L i 2[ o vour Lt GPI0_Pin<21> o UEXT_MISO
GPI0 Pin<21> S UEXT_MISO g o = UEXT_SCL 2 PG GPI0 Pin<23> I, UEXT_MOSI
GPI0_Pin<23> 5% ou |—_UEXT MOS] L X2 C3 {Vret ol v oo UEXT_SDA g Vadj| 5002 2 GPI0_Pin<25> o o UEXT_SCK
GPI0_Pin<25> o o6 |__UEXT SCK N 2] eno vour C5 | | 2o0nF 2 3w nos [B_oRE Rb N GPIQ Pin<27> o UEXT_#5SS
GPI0_Pin<27> o s |__UEXT #SS i I Y e brvyer $ GPI0_Pin<29> - GPI0_Pin<30>
GPIO_Pin<29> P GPIO_Pin<30> MCPATALT-AGE/LT(SC70-6) ) oCT |00y | g GPIQ_Pin<31> B GPIO_Pin<32>
GPI0_Pin<31> s 5 |—_GPIO Pin<37> GND Vdac . GPI0_Pin<33> 5 GPIQ Pin<34>
GPIQ_Pin<33> 35 3¢|__GPIO Pin<34> Vdac GND__ GND GND__ —"—Rc =
IDC34R 100k/1% GND GND
Vdac = Vref*(DAC_Code/64) /1%
£3.3V Vref=5V According to the datasheet: Vadj=0.41V VDD
X DAC_Code=0..64[DEC] Having in mind that IRb = IRa+IRc u2b u3b
Vdac must not exceed: 3.42V Then: Vdd = Vadj*(Ra/Rb+Ra/Rc+1) — Vdac*(Ra/Rc)
(See the Very Important Note) In case: Ra=Rc 71 vee(s) 71 vee(s)
Then: DAC_Code[MAX] = 44[DEC] Vdd = Vadj*(Ra/Rb+2) — Vdac 18 v (p) 18 v (p)
HN1x2(Opened) The proper range is: Let’s get Ra=Rc=100k and Rb=10k,
U2 DAC_Code=0..44[DEC] hezened] Then: Vdd = 4.92 - Vdac 8 1o 4l o 4] eno
1DIR P GND GND
GN 10E GN GND GND
GPIO_Pin<5 47 2 1000 GPIO Pin<32> 47 2 1016 =============== eNe eNe
-_ m< = 1A0 1BO - m< =, 1A0 1BO ny | tant Note !
GPIQ Pin<7> 46 101 181 31001 GPIO_Pin<30> 46 159 1pq 31017 ':“::E;yzjzpir:azmzzifzm 74ALVC164245DL(SSOP48) 74ALVC164245DL(SSOP48)
GPIQ_Pin<9> 44 402 182 |5—1002 UEXT_#SS 44 yp2 182 21018 In our case, Vdd must be in GND
GPIO Pin<ll> 43 4)34p3(6 1003 UEXT_SCK 43 13 183 |61019 the range: 1.5V to 5.5V, because
GPIO_Pin<13> 41| 4,, 1p4 |8 1004 UEXT MOSI 41 4 a4 1py 181020 this is the correct range for
GPI0_Pin<15> 40 4,5 4p5 |9 1005 UEXT _MISO 401 4 a5 1p5 121021 T4HALVC164245DL
GPIO_Pin<17> 38 4,6 1p 1L 1006 UEXT _SDA 38 4pq 186 L1022 when VCC(B) = 5V
GPI0 _Pin<19> 37 4,7 457 121007 +3.3V+5V VDD UEXT SCL 37 457 157 L2 1023
EXT2 vaP +33V u2c u3c
74ALVC164245DL(SSOP48) 12 —DGND 74ALVC164245DL(SSOP48) EXT1
34 T2 DGND 34 vee(a) 34 vee(a)
1000 |, L[5 1016 |5 .|[1027 52 yec(a) 52 yec(a)
+3.3V 1001 7 8 1014 +3.3V 1017 5 6 1026
1002 s 10 1013 1018 7 s 1025 L1213 28 \p 28 cnd
1005144 12 1012 DIRG 1049 9 10 1024 GND GND
DIR3 R10 1004 13 14 1011 HN1x2(Opened) 1020 11 12 1023 GND GND
HN1x2(Opened) 10k U2B 1005 15 16 1040 U3B 1021 13 14 1022 GND GND
h 1006 17 18 1009 BH14S
2DIR 1007 19 20 1008 2DIR \ onp  THALVCLE4245DL(SSOP48) 74ALVC164245DL(SSOP48)
6N 20E BH20S GN 20E
GPIO_Pin<21> 36 50 2p0 1008 UEXT _TxD 36/ 570 2B0 1024
GPIO_Pin<23> 35 554 51 1009 UEXT _RxD 35 a1 2B1 1025
GPI0_Pin<25> 33 5,5 5> 1010 GPI0_Pin<12> 33 5,5 5p5 1026
GPI0_Pin<27> 32 5y g3 1011 GPI0_Pin<10> 32 5,3 5p3 1027
GPIO Pin<29> 30| 54, s [0 1012 230 5a% >an L3
GP\O,PW<31> 29 5a5 285 1013 29 op5 285 % https://www.olimex.com/
GPIO_Pin<33> 27 56 26 1014 L 246 286 P& OLimeX LTD
GPIQ Pin<3h> 26 547 ppy 231015 28 5r7 257 [23¢ Sheet: 7
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